$$\frac{5}{2} \arcsin\left(\frac{\sqrt{5}}{\sqrt{5}}\right) - \frac{5}{2} \arcsin\left(\frac{0}{\sqrt{5}}\right)$$

$$= \frac{5}{2} \arcsin\left(1\right) - \frac{5}{2} \arcsin\left(0\right)$$

$$= \frac{5}{2} \cdot \frac{\pi}{2} = \frac{5\pi}{4}$$

E.g.
$$\int \frac{dx}{\sqrt{4 + x^2}} \quad \text{Trig. Sub: } x = 2 \tan \theta$$

$$\int \frac{2 \sec^2 \theta}{\sqrt{4 + 4 \tan^2 \theta}} \, d\theta = \int \frac{2 \sec^2 \theta}{\sqrt{4 (1 + \tan^2 \theta)}} \, d\theta$$

$$= \int \frac{2 \sec^2 \theta}{\sqrt{4 \sec^2 \theta}} \, d\theta = \int \frac{2 \sec^2 \theta}{2 \sec \theta} \, d\theta$$

$$= \int \frac{2 \sec^2 \theta}{\sqrt{4 \sec^2 \theta}} \, d\theta = \int \frac{2 \sec^2 \theta}{2 \sec \theta} \, d\theta$$

$$= \int \frac{2 \sec^2 \theta}{\sqrt{4 \sec^2 \theta}} \, d\theta = \int \frac{2 \sec^2 \theta}{2 \sec \theta} \, d\theta$$

$$x = 2 \tan \theta$$

$$\tan \theta = \frac{3c}{2}$$

$$Q_n \left| sec\theta + tan\theta \right| + C = \left| l_n \left| \frac{\sqrt{4 + x^2}}{2} + \frac{x}{2} \right| + C.$$

1-9. HW # 10.

$$\int \frac{dx}{(x^2 - 36)^{3/2}} = \frac{dx}{(\sqrt{x^2 - 36})^3}$$

$$\int (\sqrt{x^2 - 36})^3$$

Trig sub: x = 6 sec 0 dx = 6 sec = tan 0 de

$$\int \frac{6 \operatorname{sec}\theta \tan \theta}{\sqrt{36 \operatorname{sec}^2\theta - 36}} d\theta = \int \frac{6 \operatorname{sec}\theta \tan \theta}{\sqrt{36 \left(\frac{\operatorname{sec}^2\theta - 1}{\operatorname{sec}^2\theta} \right)^3}} d\theta$$

Tuesday, February 20, 2018 2:44 PM
$$\begin{cases}
6 \text{ ARL} \Theta + \tan \Theta \\
\hline
(\sqrt{36} + \tan^2 \Theta)^3
\end{cases}$$

$$\frac{6}{\sqrt{36} + \tan^2 \Theta} = \frac{6}{\sqrt{6} + \tan \Theta} =$$

$$= \int \frac{6 \sec \theta \tan \theta}{216 \tan^3 \theta} d\theta = \frac{1}{36} \int \frac{\sec \theta}{\tan^2 \theta} d\theta$$

$$= \frac{1}{36} \left\{ \begin{array}{c} \frac{1}{\cos \theta} \\ \frac{1}{\cos \theta} \end{array} \right\} \frac{1}{\sin^2 \theta} \left\{ \frac{1}{\cos^2 \theta} \right\} \frac{1}{\cos^2 \theta} \frac{1}{\cos^2 \theta} \left\{ \frac{1}{\cos^2 \theta} \right\} \frac{1}{\cos^2 \theta} \frac{1}{\cos$$

$$= \frac{1}{36} \int \frac{\cos \theta}{\sin^2 \theta} d\theta = \sin \theta$$

$$du = \cos \theta d\theta$$

Tuesday, February 20, 2018 2:49 PM
$$= \frac{1}{36} \left\{ \frac{du}{u^2} = \frac{1}{36} \right\} u^{-2} du = \frac{1}{36} \cdot \frac{u^{-1}}{-1} + C$$

$$=-\frac{1}{36}\cdot\frac{1}{u}+C=-\frac{1}{36u}+C$$

$$= -\frac{1}{36 \sin \theta} + C$$

$$= - \frac{1}{36 \cdot \sqrt{x^2 - 36}} + C$$

$$= -\frac{3c}{36\sqrt{x^2-36}} + C$$

$$\frac{x}{6}$$

$$\sin \theta = \frac{x^2 - 36}{x}$$

Tuesday, February 20, 2018 2:54 PM

$$\chi^{2} + 4\chi + 4 = (\chi + 2)^{2}$$

E.g. HW # 12.

$$\int \frac{dx}{x^2 + 4x - 12} = \int \sqrt{x^2 + 4x + 4} - 16$$

Trig sub:
$$3c+2=4$$
 sec θ

$$dx=4$$
 sec θ tan θ $d\theta$

$$= \frac{4 \operatorname{ARL} \theta + \operatorname{ten} \theta}{\sqrt{16 \left(\operatorname{ARL}^2 \theta - 1 \right)}} d\theta = \frac{4 \operatorname{ARL} \theta + \operatorname{ten} \theta}{4 \operatorname{Aten} \theta} d\theta$$